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Work out the total of 17.2, 4.96 and 12

John wins £400. He gives 40% to his brother and 30% to charity.
Calculate how much money John has given away.

One day is 24 hours. What fraction of a day is 6 hours? Simplify your
answer as much as you can

Jess says 3.70 divided by 10 is 3.7.
Paul says 3.70 divided by 10 is 0.370.
Who is correct? Explain why the other person got it wrong.

At a restaurant, a waiter is needed for every 5 tables. If there are 32
tables, how many waiters are needed?

Finley and Gerry both are driving on the same 48km journey.
Finley is % of the way and Gerry is 1—72 of the way.
Who's travelled the furthest so far?



